
General Physics I  Dr. Pogo 

Center of Mass 

What is the center of mass of these “objects”? 
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This object can be broken into two groups: 

 

A1 = b1h1= 4.0 m
2
 

A2 = b2h2 = 1.0 m
2 

Atotal = A1 + A2 = 5.0 m
2
 

xcm1 = (b1)/2 = 1m   ycm1 = (h1)/2 = 1m  

xcm2 = b1 + (b2)/2 = 2.5 m
  

ycm2 = h3 + (h2)/2 = 1m 

 

So ( )( ) ( )( )[ ]22
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+=CMx = xCM = 1.3 m 

Also, ( )( ) ( )( )[ ]22
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+=CMy = yCM = 1.0 m 

 

2. 

 

 

 

 

 

 

 

 

 

A1 = bh = 24.0 m
2
 

A2 = –D
2

 = –2.25 m
2
  (because this is a hole, this area is negative!) 

Atotal = A1 + A2 = 21.75 m
2
 

xcm1 = b/2 = 3m     ycm1 = h/2 = 2m  

xcm2 = B + ½D   = 4.75 m
    

ycm2 = H + ½D = 2.75 m 

 

So ( )( ) ( )( )[ ]22
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−+=CMx  = xCM = 2.8190 m 

Also, ( )( ) ( )( )[ ]22
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B = 4m D = 1.5m 


